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QUESTION 1

Given the code fragment: 

How long does this cookie persist? 

A. until server shutdown 

B. until garbage collection in the servlet instance 

C. this request 

D. until browser shutdown 

Correct Answer: D 

Reference: https://docs.oracle.com/javaee/6/api/javax/servlet/http/Cookie.html 

 

QUESTION 2

Which three values are applicable for the profile option - "Transaction Processing Mode" for subinventory transfer and
interorganization transfer? 

A. Background Processing 

B. Sequential Processing 

C. Concurrent Processing 

D. Online Processing 

E. Offline Processing F. Blind Processing 

Correct Answer: ACD 

 

QUESTION 3

Which two statements are true in regard to using the Enterprise Structures Configuration? (Choose two.) 

A. It recommends job and position structures. 

B. It allows you to create your Enterprise, Business Units, and Warehouses in a single step. 

C. You cannot modify the recommendation from the tool. You must do it after you perform the initial configuration. 

D. The guided interview-based process helps you set up the enterprise with best practices. 
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E. It creates the chart of accounts. 

Correct Answer: BD 

 

QUESTION 4

As part of implementing Oracle Cloud for your customer, you defined multiple Business Units. The customer wants you
to define an Inventory Organization that is associated with all the business units and not just one particular business
unit. 

How do you achieve this? 

A. Define the Inventory Organization without associating it with any location. 

B. Leave the Management Business Unit field blank in the Inventory Organization definition. 

C. Leave the Profit Center Business Unit field blank in the Inventory Organization definition. 

D. It is not possible to define an Inventory Organization that is associated with more than one business unit. 

Correct Answer: D 

 

QUESTION 5

Given the code fragment: 

How can you apply DateConverter to the birthday field? 

A. by adding @Convert(to=Date.class) at line 3 

B. by invoking the setConverter(DateConverter.class) method on the EntityManager object 

C. by adding @Converter(autoApply=true) at line 1 
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D. by adding @Convert((DateConverter.class)) at line 2 

Correct Answer: A 
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